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Three, 5 and 9 colour steps, numeric specification BlBtkaN0I0 *TUBLOG,U =50 loglY /5Yy) +50, Yn=4, Yy=20,Y\y =100
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9800-11, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1000
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Three, 5 and 9 colour steps, numeric calculation BIBEC) L*TuBLOG,U =50 Iogl /5Yy) +50,Yi=4, Yy =20, Y =100
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Ge00-50, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1.000
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TUB-test chart gel0; Adjacent and separate colour samples for intervall scaling
Evaluation of colour steps of the senes N-W with 3, 5 and 9 steps; surround mean Grey
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